Ol_l-ll E .I

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

2H2I2| A A

ks

RIS

QlE|A BRKIE HAOE OI5f AF URITH HatsHE WS YKl
913 AL EILIC.

ol8 S0{ 7|, B &I, 77 U S &3 RZO| Lol9t £O| FE Ei
oIzl &0l BRIt

ZobAl olela Bixs 2B EY|2 RS ELIC ol o &2
Ol IS 22 S0I7kALE LIS 4 LIt

R AT PRIt 222 B 4 9 ol A 4 aLic

e MM7} Qi BITO] ZP BE MEIE TR Z QIAIst0] A%

Melg = A&

Ol AFBElE RH7|1E MME M EEo &R Z2 0o nHEL
Ch e Mot MM EHE dste &el 2Rl Wel § YTz 0
9 DY 4 ALt

THE:

LEAF &2]E, AE|QIZ|A AR 1.4305.

O|E-II/\ “E—lx.| AE-||O|E|_ AEl1.4034.

I|AE 420 O3, NBR.

2 AR TPU.

01| E, NdFeB.

II2E HE, AHQIEZ|A AE A2-70.
RE7|E MM, 047}_/.:*3 =X | PA12.

MM EH, POM, &R ZZ20Q, A2 0|5,
Eri | ot |

Zst &2 El, odob 2 04 ZEd

Efel A G B: EHS &8, AZ 2 BE 7l
etelc: 25 &8
71 HlOIE:

0oF E A

oHd 1o

s Qrad: 4-6bar

OtEl HAZ 37|, LY &=
K71 MA:

£24 3|2: PNP H4{7|(NO)
’S.*% 19t 10 - 30V DC
S F: 200mA

ﬁ-?—P" Il 7I-E 2kA/m

o =2—
AQ|E Fak: 3000Hz
Et2h 8hX): of
IMES: ol
B3 53:1P67
14 8%:2m PUR - 70|E
2r #Hel:-25° C ~ +85°C
&9Ql: CE, c-UL-us, UKCA, WEEE
0|
RS SHE A MH[oF &R0 AFE.

www.kipp.com - info@kipp.com 1/4



°
A =2 AElI 310
oldiiA E X, AH|Ql2|A AR S014A]
=5 dY/HIE oo x|
=2z He:
-30°C~+80°C
HMIA{2]:
X717 M K2203.
T&20| A MM EO K2204.
EMH MY
Bl A: EHE A8, SerAl g
ElQIB: EHE &8, , SYA £5
ElQl C: 25 =8,
1) 17 1- B4 &z
2)dd2-3YN =5
3) HEf MM US
P: 2t & o=
N
®E® ._.IH
[
D4 D3
iy ; " ®
J T 3 ! - a a .
i H | [
! e T [ F=
3 o !
o
L] S 3 E%EE@@
: 1 E}P 'lll‘
[ SW2 ©
3 \ o, A,
HiE | = =
D_.g,;f 1*})2 m 1 2+P m
o1
Z5 29
oleiA ZRIX, AE|QIE|A AR, SOtA
FEHS ER EEIEEY % 2 B D1 D2 D3 D4 D5
K2202.120610 A B =g, 3t EE - - M12x1,5 22 23 M5 -
K2202.130815 A s &8, 34 =z - - M16x1,5 22 23 M5 -
K2202.141015 A BE %8, 3 =5 - - 10 M20x1,5 22 23 M5 -
K2202.141215 A B =g, 3o EE - 12 M20x1,5 22 23 M5 -
K2202.1206101 A s &g, 34 =z AFEN MIM &= 35 M12x1,5 22 23 M5 25
K2202.1308151 A s =g, 3o &y AEf MM US 35 M16x1,5 22 23 M5 25
K2202.1410151 A BHE &8, 3¢ &y AEH MM US 35 10 M20x1,5 22 23 M5 25
K2202.1412151 A s &g, 34| =z AER MM US 35 12 M20x1,5 22 23 M5 25
K2202.220610 B BE %8, 3gA =y - - M12x1,5 22 23 M5 -
K2202.230815 B EHE 58, 3 &y - - M16x1,5 22 23 M5 -
K2202.241015 B s &g, 34| =z - - 10 M20x1,5 22 23 M5 -
K2202.241215 B BE %8, 3gA =y - - 12 M20x1,5 22 23 M5 -
K2202.2206101 B BE 58, 3YA &y AEH MM US 35 M12x1,5 22 23 M5 25
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



°
QA ZRX|, AH|QI2|A AE, ToHA
Z= 29
FEWHS Eted ECIE] HE 2 B D D1 D2 D3 D4 D5
K2202.2308151 B s =g, 3otA &y AEf MM US 35 8 M16x1,5 22 23 M5 2,5
K2202.2410151 B s &8, 34 =y AER MM US 35 10 M20x1,5 22 23 M5 25
K2202.2412151 B B= g, 3o Y AEf MM US 35 12 M20x1,5 22 23 M5 25
K2202.320610 C =5 EHE - - 6 M12x1,5 22 23 M5 -
K2202.330815 C 5558 - - 8 M16x1,5 22 23 M5 -
K2202.341015 c 558 - - 10 M20x1,5 22 23 M5 -
K2202.341215 C S5 X8 - - 12 M20x1,5 22 23 M5 -
K2202.3206101 C 5558 AEf MM US 35 6 M12x1,5 22 23 M5 25
K2202.3308151 c 558 AEf MM US 35 8 M16x1,5 22 23 M5 25
K2202.3410151 C S5 X8 AEf MM US 35 10 M20x1,5 22 23 M5 25
K2202.3412151 C 5558 AEf MM US 35 12 M20x1,5 22 23 M5 25
== 8 EFQ] H AEZS L L1 L2 L3 L4 L5 SW1 sSw2 T
S
K2202.120610 A - 10 77 20 10 18 - - 24 19 4
K2202.130815 A - 15 80 26 10 18 - - 24 24 4
K2202.141015 A - 15 80 28 10 18 - - 24 30 4
K2202.141215 A - 15 80 28 10 18 - - 24 30 4
K2202.1206101 A 19 10 77 20 10 18 235 2000 24 19 4
K2202.1308151 A 19 15 80 26 10 18 235 2000 24 24 4
K2202.1410151 A 19 15 80 28 10 18 235 2000 24 30 4
K2202.1412151 A 19 15 80 28 10 18 235 2000 24 30 4
K2202.220610 B - 10 77 20 10 18 - - 24 19 4
K2202.230815 B - 15 80 26 10 18 - - 24 24 4
K2202.241015 B - 15 80 28 10 18 - - 24 30 4
K2202.241215 B - 15 80 28 10 18 - - 24 30 4
K2202.2206101 B 19 10 77 20 10 18 235 2000 24 19 4
K2202.2308151 B 19 15 80 26 10 18 235 2000 24 24 4
K2202.2410151 B 19 15 80 28 10 18 235 2000 24 30 4
K2202.2412151 B 19 15 80 28 10 18 235 2000 24 30 4
K2202.320610 o - 10 77 20 10 18 - - 24 19 4
K2202.330815 C - 15 80 26 10 18 - - 24 24 4
K2202.341015 o] - 15 80 28 10 18 - - 24 30 4
K2202.341215 o - 15 80 28 10 18 - - 24 30 4
K2202.3206101 C 19 10 77 20 10 18 235 2000 24 19 4
K2202.3308151 C 19 15 80 26 10 18 235 2000 24 24 4
K2202.3410151 o 19 15 80 28 10 18 235 2000 24 30 4
K2202.3412151 C 19 15 80 28 10 18 235 2000 24 30 4
TAEE Y AZE E
FEHS EFQ] P=EE g2 F6=L|AEZ F6=%=2 -6 bar F1=AI& = F2=41= &l
dt 6bar 22 (N) Az AZEIS
(N) (N (N
K2202.120610 A 4-6 83 - 30 11
K2202.130815 A 4-6 83 - 30 11
K2202.141015 A 4-6 83 - 30 11
K2202.141215 A 4-6 83 - 30 11
K2202.1206101 A 4-6 83 - 30 11
K2202.1308151 A 4-6 83 - 30 11
K2202.1410151 A 4-6 83 - 30 11
K2202.1412151 A 4-6 83 - 30 1
K2202.220610 B 4-6 - 66 1 30
K2202.230815 B 4-6 - 66 11 30
K2202.241015 B 4-6 - 66 1 30
K2202.241215 B 4-6 - 66 11 30
K2202.2206101 B 4-6 - 66 11 30
K2202.2308151 B 4-6 - 66 1 30
K2202.2410151 B 4-6 - 66 11 30
K2202.2412151 B 4-6 - 66 11 30
K2202.320610 C 4-6 113 96 - -

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/4



°
QlHA ZRX], AE|QUR|A AL ToHA
Z= 29
FEHS Et2] P=2t= or&d F6=I|AEZ F6=+=21-6 bar F1=4I%HE ENETLE
HF 6bar 32 (N) Axmalad Am2lad
(N) (N) (N)
K2202.330815 C 4-6 113 96 - N
K2202.341015 c 4-6 113 96 - -
K2202.341215 c 4-6 113 96 - .
K2202.3206101 c 4-6 113 96 - N
K2202.3308151 c 4-6 113 96 - -
K2202.3410151 c 4-6 113 96 - .
K2202.3412151 o] 4-6 113 96 - N

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



